[15-112] Lecture 10



Lecture 10 Poll 1
What is the output of the following code?

1st = ['abc', 'def', 'ghi']
1st[1] = "wxyz'
print(len(1lst))

A. 3
B. 9

C. 10

D. 4

E. This code produces an error
F. T don't know



Lecture 10 Poll 1 (Take 2)
What is the output of the following code?

1st = ['abc', 'def', 'ghi']
1st[1] = "wxyz'

A. 3
B. 9

C. 10

D. 4

E. This code produces an error
F. T don’'t know



Lecture 10 Poll 2
What is the output of the following code?

X,y = 1,2
Z = Y,X
print(z)

1

2
. (1,2)
. (2,1)
. This code produces an error
F. T don’'t know

Mmoo



